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1. (1) 000000000000 E=a*+b—2abcosC 00000000000
ABCOOOO AB=¢,BC=qa, CA=b00000

(2) DOOODOODOOODO000 S=mm—a)(m—>0(m—c 000000
00SO0000000 abc000000000002n=a+b+c0000

2. (1) f(MmDO C*000000w=f(r),r=2?+y>+220000

Pw  O*w 82w_d2w 2 dw

= -— aooa
0x? + 0y? + 0z2  dr? +rdr

t
(2) z=¢€" z=log(s*+1t?), y=Arctan- 0000z, 2 00000
S

3. (1) 000000 (ne)000000C-00 2z=¢(r,000000 ¢ =000
0000000¢(r,g)0r00000000000000

(2) R*00 C-00 f(z,y) 00000 yf, —2f, =0000000000 f(z,y) O
2 +y?00000000000000

4. 00 f(x,y) = e Arcsiny 0 (0,0) 0000 n=20000 TaylorOO OO OO
0o

5. 00 f(r,y)=2'+y'—2’+22y—?00000000000000000

6. D000x2>0,y>0, z+y<40000 f(r,y)=2*+ay+y*—4r—5y000
doooooooooooooooooo



